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Paper First : 2017 Annual
Inorganic Chemistry

Time : Three Hours] [Maximum Marks : 33
Atz enf ot v IR g | oo g | o v e e |
Attempt all the five questions. One question from each
Unit is compuisory.
UNIT - 1
() 1s wd 25 3o & fofll sog oae @ AIrARE g0 & W e
#4124 |Draw the graph between electron density and nuclear

distance for 1s and 2s electron. 1
(T) SRR T W TR S T R SR |
Explain the factors affecting electron affinity. 3
(%) FAT T FE H SFaR Rl |
Write the difference between orbit and orbitals. 3
OR

(37) T Y R Sl SR SNEE Sl & ST Sl & | S |
The ionisation energy of carbon is more than ionisation
energy of boron. Explain. 1

(7) Pr=toiRea % mpel iR sam A o Rk - (1) Zn (30) FoEish
e (i) Zn % 3d oA
Calculate the effective nuclear charge of the following : (i)
Valence electron of Zn (30} (i) 3d electrons of Zn 3

(@) arad wolt & Prafifad o ahaffa 83 €7 () R sat (i)
sraies s (i) Frgeswesal How do the following properties
vary in the periodic table ? (i) lonisation energy (i) Atomic

radii (i} Electronegativity 3
UNIT - 2
() XeF , =y A sl 3 am ot |
Write the name of the sturcture of XeF, molecule. 1
(@) CO o] F AT T2FF Frll T ARE
Draw the molecule orbital energy level diagram of CO
molecule. 3

(F)NF, ﬁaﬁaawaaaﬁﬁBF il anae | auEEd |

NF is pyramidal while BF is frigonal planar. Explain. 3
OR
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(3 He, o g fele | Wirite the bond order of He, molecule. 1
() PCI, # d%0o1 % S1gd | Explain the hybridisation in PCL. 3
(§) CH, &1 333 NH, & afors Jar & | VSEPR Riar= ¥ IR ®

T | CH, has bigger bond angle than NH,_. Explain the

basis of VSEPR meory.lm" -3 a2zSubjects.com

(o) 1Tz} 2w = o 3oy BfER | Wirite one example of Schottky
effect. 1

(@) s dve Riera 3 9R W 9IS, Sas a9 SdaEst &
wazzd | Explain the conductors, insulators and
semiconductors on the basis of metalhc band theory. 3

(3) RErEmit 3N F 9RaTy |
Explain the non-stoichiometric defects. 3
OR
() n-gFR ¥ sreaves w7 Igreror fofad |
Write the example of n-type semiconductors, 1

() 34 farg A A Twar e st Brea w o snaan 21
Explain the point defect by which the density of ionic crystal

decreases. 3
(/) CaCl,, NaCl & sifir wreefaiolt €t & | ey |
C‘-a('.:l2 is more covalent than NaCl. Explain. 3
UNIT - 4
Pretferfve o wifere foeafort fafied - (i) XeF, & s od a@w=m (ii)
CEhel g g afew S w fmfor

Write short notes on the following : (i) Hybridization and
structure of XeF, (i) Complex formation by alkali metals 6
OR

Prrfrfae = ool (i) &rita e o o i Al & gee
FWAE| (i) BeSO, H forer & si% BaSO, 7| (i) CIF,, &t sivam
é’ralm-aﬁrﬁraﬁ%l 6

Explain the following : (i) Alkaline earth elements impart
characteristic colour to the flame. (ii) BeSO , Is soluble but
BaSO, is insoluble in water. (iii) Structure of CIF_ is T-shape.
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UNIT - 5
(1) FrmferRea 3 wponenss fasemor fafalt - Wirite the qualitative test of
the following : BOZ, 0202- cr 3
@C, R S aEA | Draw the structure of C, 3
OR
(o1 Frafefea S erurdiiom - (i) Rforeim srieiiamee R gaa e S
st 1 (ii) co, ﬁﬂa"iﬁﬁﬁSlo 3T | 3

Give reason for the fc:llowmg (i) Silicon dioxide has a giant
molecule Structure. (ji) CO is a gas while S|D a solid.

(%) Frafaiaa i awer ; (l)aﬁé}#wmﬁmy (u) H,PO, &
#RFar Explain the following : (i) Metallic character of iochne
(i) Basicity of H F'O3 3
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